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General Instructions :

Read the following instructions carefully and follow them :

(i) This question paper contains 33 questions. All questions are compulsory.
(it)  Question paper is divided into five sections — Sections A, B, C, D and E.

(iti) Section A - questions number 1 to 16 are multiple choice type questions. Each
question carries 1 mark.

(iv) Section B — questions number 17 to 21 are very short answer type questions.
Each question carries 2 marks.

(v)  Section C - questions number 22 to 28 are short answer type questions. Each
question carries 3 marks.

(vi) Section D - questions number 29 and 30 are case-based questions. Each
question carries 4 marks. Each question has subparts with internal choice in
one of the subparts.

(vii) Section E — questions number 31 to 33 are long answer type questions. Each
question carries 8§ marks.

(viit) There is no overall choice. However, an internal choice has been provided in
Sections B, C and D of the question paper. A candidate has to write answer for
only one of the alternatives in such questions.

(ix) Kindly note that there is a separate question paper for Visually Impaired
candidates.

(x) Wherever necessary, neat and properly labelled diagrams should be drawn.

SECTION A

Questions no. 1 to 16 are Multiple Choice Type Questions, carrying 1 mark
each. 16x1=16

1. An angiosperm embryo sac is located within the :
(A) Placenta
(B) Megasporangium
(C)  Nucellus
(D) Ovary
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(A)  1-Gi), 2-(Gv), 3—(), 4-(iii)
(B)  1-(ii), 2—(1), 3—(iv), 4-(1)
(C)  1-Gi1), 2-(v), 3—(1), 4-(ii)

(D)  1-G1, 2—31), 3-(1v), 4—(ii)
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2. Match the items in Column I with those in Column II and select the
correctly matched option from those given below :
Column I Column I
Cross Phenotypic Ratio
1. Mendelian monohybrid (1) 1:2:1(F9)
2. Mendelian dihybrid i) 1:1
3. Incomplete dominance (i) 3:1(F9y)
4. Test cross (monohybrid) (iv) 9:3:3:1(Fy)
Options :
(A)  1-Gi), 2-Gv), 3—(), 4-(iii)
(B)  1-(ii), 2—(1), 3—(iv), 4—(ii)
(C) 1-Gii), 2-@Gv), 3—(1), 4-(ii)
(D) 1-Gi), 2-(G), 3—(iv), 4—(iii)
3. In humans, the secondary oocyte completes meiotic division when :
(A) it gets implanted in the uterine endometrium.
(B) it is released from the matured Graafian follicle.
(C) it is penetrated by the sperm cell.
(D)  acrosomal enzymes break down the zona pellucida.
4, Which one of the following statements is not true ?

(A)  Flippers of whales and dolphins are homologous organs.

(B) Homologous organs have similar anatomical structure, but

perform different functions.
(C) Homology indicates common ancestry.

(D) Homologous structures are a result of convergent evolution.
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G /BTEl-aeT dge | Bl & (J9TE Uelied ‘A’ 99 3TvuTet Uefla @’ B) |
IfE Ul ‘A’ <l TR 0-6 &, A SIHIEST ‘Aa’ 61 STTERT 1

A) 021 (B) 042

(C) 048 (D) 032

6. ST 7] i fgheel T §, 9 8d &
(A)  UhHHM qIT ITh
(B) UHEHAM qUT 3
(C)  Yid-HHMIGR ql Ih

(D)  Id-SHHEE qeT 3Tqh

7.  Th EH THIE U, THYS (THE) 39 AR Aafed gl R
(A) 3TUTIE oo o 3’ TR @
(B) JHeie To9® & 5 fhiR W
(C) IS ueh o 5 fhil W
(D) IS o o 3 TR W

8. HWH g arell ©ft o fuan auniy § | 98 ©ff Tk 9 gfee arel gey ¥ foams
AT 8 | ITeh! HAH o UMY I T GHTS Hf=rd BT :

(A 25% (B) 50%
C)  T75% (D) 100%

9. S ST I FAEH 3 :

(A) Gl TS "X

(B) HIET 071%cllsT A<

(C) R T T=X

(D) WG FAFT T
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5. A population is in genetic equilibrium/Hardy-Weinberg equilibrium for a
gene with 2 alleles (dominant allele is ‘A’ and recessive allele ‘a’). If the
frequency of allele ‘A’ is 0-6, then the frequency of genotype ‘Aa’ is :
(A) 021 (B) 042
(C) 048 (D) 032
6. In the double helical structure of DNA molecule, the strands are :
(A) identical and complementary
(B) identical and non-complementary
(C) anti-parallel and complementary
(D) anti-parallel and non-complementary
7. In a ‘transcription unit’, the ‘terminator’ is located towards the :
(A) 3’ end of the template strand
(B) 5" end of the template strand
(C) 5" end of the coding strand
(D) 3’ end of the coding strand
8. A woman with normal vision has a colour blind father. She marries a
man with normal vision. The percentage chance of their progeny being
colour blind is :
(A 25% (B) 50%
(C)  75% (D) 100%
9. The vector for dengue fever is :
(A) Female Aedes mosquito
(B)  Female Anopheles mosquito
(C)  Male Aedes mosquito
(D) Female Culex mosquito
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(A) TSI I STTHET ITgUCAahi shi 3T AT gt & |
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(C) UIGUTahi hl TEAT STUETHA HH B! & |
(D) << gafoEl 31 asfaat i @rd § |

Yo7 G&I1 13 § 16 % 1078, 51 %97 15¢ T¢ & — (574 T %1 37159 (A) 797 gt &1
FRIT (R) ZRT 37ebd 137 791 & | 37 ¥941 & @&l 3¢ 919 3¢ 79 Figl (A), (B), (C)
3% (D) 7 @ g I |
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(B) TR (A) 3T SR (R) HI T& 7, T R (R), AMMHe (A) &
e AT g1 T 7 |

(C) 3MhYH (A) HEI &, Tg R (R) Tad 7 |

(D) 3IfYH (A) TeId 8, T HROT (R) Tl 7 |
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10. Which one of the following pairs is not correctly matched ?
(A)  Clostridium butylicum — Butyric acid
(B)  Trichoderma polysporum — Cyclosporin A
(C)  Monascus purpureus —  Citric Acid
(D)  Streptococcus — Streptokinase
11. Which one of the following is not a feature of plasmids ?
(A) Circular
(B)  Self-replicating
(C)  Single stranded
(D)  Extra-chromosomal
12. The pyramid of biomass in sea is generally inverted because in sea :
(A) Biomass of fishes exceeds that of phytoplankton.
(B)  Number of phytoplanktons is more.
(C)  Number of phytoplanktons is less.
(D) Large fishes feed on small fishes.
For Questions number 13 to 16, two statements are given — one labelled as

Assertion (A) and the other labelled as Reason (R). Select the correct answer to these
questions from the codes (A), (B), (C) and (D) as given below.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(C)  Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.
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fafaw |
57/2/1-12 10

.
Qcollegedumag
India’s largest Student Review Platform



13. Assertion (A) : RNA is unstable and can mutate at a faster rate.
Reason (R): The presence of 2° — OH group in every nucleotide of RNA
makes it labile and easily degradable.
14. Assertion (A) : Virus-infected cells produce interferons.
Reason (R): Interferons can cause inflammation of virus-infected cells.
15. Assertion (A) : Specific enzymes are used to degrade the cell wall in
organisms to isolate the DNA from the cell.
Reason (R): Fungal cell wall is degraded by the enzyme cellulase.
16. Assertion (A): Loss of biodiversity can occur due to overexploitation of
resources.
Reason (R): Introduction of Clarias gariepinus in Indian rivers has led
to a decline in native Indian fishes.
SECTION B
17. (a) Name any two copper releasing intra-uterine devices. State two
reasons that make them effective contraceptives. 2
OR
(b) Name any two outbreeding devices that flowering plants have
developed and explain how they help in encouraging
cross-pollination. 2
18. Although Haemophilia and sickle cell anemia are two blood related
Mendelian disorders, yet, they differ in their pattern of inheritance. State
any two differences. 2
57/2/1-12 11 VAWV P.T.O.
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(a) | et GIeIHE A JrgaTesh (feude) /IR & JhrEl i
ftaT Lt 3
(b) | 3G dersar ERICEIEER:] B
(c) | TRAITTETH FHIHT C D
20. FAMT FaEh pBR322 ¥ ‘ori’ qAT WdeeH ToIe hl YfenT fafau | 2
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Qug
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fafau |
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s = o fuqed MUlid S § SARI 7gg o Thdl & | e I JHIG
& o TIU ST Tedientor YeH SN | 3
24, (%) TAN (FITEON) TshH o SHIF 3T TshH i ST Hifoe fad v
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(M) 9IHAR (UTR) =1 foqa €9 fafaw | 9 sval afeed 8id § 2 3
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19. Identify A, B, C and D in the following table : 2
Scientific name of Drug Effect on the human
the plant body/human system
(a) | Papaver A Depressant/slows down body
somniferum function
(b) | Cannabis sativa Cannabinoids B
(c) | Erythroxylum coca C D
20. Write the role of ‘ori’ and restriction site in the cloning vector pBR322. 2

21. How is the rate of decomposition affected by the nature of detritus and
temperature ? 2

SECTION C

22. (a) Whyis “in vitro fertilization (IVF)” so named ? State its importance.
(b)  Distinguish between GIFT and ZIF'T. 3

23. (a) (i) Write the karyotype and the genetic disorder of an individual
who has developed from a zygote formed from an XX egg
fertilised by a Y’ sperm. 1

(ii)) Mention any two symptoms of this genetic disorder. 1

(iii) Write the possible reason that leads to the formation of this
XX’ egg. 1
OR
(b) In case of any dispute, a very small sample of tissue or even a drop

of blood can help us to determine the paternity of a child. Provide a
scientific explanation to substantiate the statement. 3

24. (a) Explain the process by which amino acid gets attached to the tRNA

molecule during translation process.
(b) How does the translation process get terminated ?
(c) Expand ‘UTR’. Where are they located ? 3
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25. (a) Differentiate between humoral immune response and cell-mediated

Immune response.

(b) Draw a schematic diagram of an antibody molecule and label any

four parts. 3

26. The picture given below shows : 3
(a) Roots of a typical control tobacco crop plant (infected).

(b) Transgenic tobacco plant showing healthy roots even after

deliberate infection by nematode.

Explain how this transformation was achieved in the tobacco plant.

27. Given below is a pie chart representing global diversity of vertebrates.

A

Fishes
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IARF fahey Iear 737 8 |

29. fffigd ufieae i g = feu e uwi = 3w dfT | 4
THE qen 371 At IR T skl Th HEYUl gt wifieh AU 7 | 39
ThH W1 U qYT feEwr g o gwe grr foRam Siam R | AN § g
feReTITa®eN /AeRY | IRY BA1 & ¥ 9qd 9adl &l & | Yo guor | 311ie
(vifcTer) S (IH) hIfrepTd IEhUeA (TqHemten) # fadfea & St 2
RIS (TTHEIIRT) IEhTU[sT 1 qaadi & | I8 Yshoieh ATcTehIsli hl aTel
R (Tafa) w rafeya gt § &l Yehola @1 JshH U9 BT 3 |

(%) TV H THTHTS o YhH /TRAT U TAT G H $Hh [hATATI I IUM

T | 2
Jrran
(%) IEhoH Tk T AT hi YfHeRT T JU HINTT | 2
(@) 37 HIFwRT & AW qUl Ih Ig fIREgT A 3ho o g =
ThH Hd 8 1

() G fawsE qen faved
(i) TGN TawTeH I aem Test fawrsH 11
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(a) Redraw the pie chart identifying the groups ‘A’, ‘B’, ‘C’ and ‘D’ in
their respective positions.

(b) Mention two examples of recently extinct animals. 3

28. Predation is referred to as a detrimental interaction. Explain any three
positive roles, supported by an example each, that a predator plays in an
ecosystem. 3

SECTION D

Questions No. 29 and 30 are case-based questions. Each question has 3

subparts with internal choice in one subpart.

29. Read the following passage and answer the questions that follow. 4

Spermatogenesis is an important primary sex characteristic in humans
and all other vertebrates. The process is coordinated and controlled
under the influence of hormones. It starts with the onset of puberty in
humans and thereafter continues. The primordial cells within the
embryonic testis which differentiate into spermatogonia are the
precursors of the sperms. These are located at the outer walls of the
seminiferous tubules where the process of spermatogenesis proceeds.

(a) State the site of action of FSH in the testes and describe its action

thereafter. 2

OR
(a) Describe the role of LH in the process of spermatogenesis. 2
(b) Name the cells and their products which undergo : 1

(1) Mitosis and Differentiation

(11) Meiosis I and Meiosis I1I

during the process of spermatogenesis.

(c) Name the accessory ducts that the sperms travel through from
seminiferous tubules to reach the epididymis. 1
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30. Read the following passage and answer the questions that follow. 4

In 1981, the health workers of United States of America had become
aware of the increased frequency of Kaposi’s sarcoma, cancer of the skin
and blood vessels and another disease pneumocystis pneumonia, a
respiratory infection caused by a protozoan. Both these diseases were
very rare in the general population, but occurred frequently in more
severely “immunosuppressed” individuals. This led to the recognition of
the immune system disorder that was named Acquired Immune
Deficiency Syndrome (AIDS).

In 1983, virologists working in the USA and France had identified a
causative agent for ‘AIDS’, now known as Human Immunodeficiency
Virus (HIV). ‘HIV’ follows a set path to attack the human body to cause

the disease.

(a) Name the group of cells the HIV attacks after gaining entry into the

human body and write the various events that occur within this cell. 1

(b) Write the expanded form of the diagnostic test used for detecting
AIDS. Write the possible treatment available for the disease at

present. 1

(c) Mention any two steps suggested by WHO for preventing the spread
of this disease. 2

OR

(¢c) “A patient suffering from AIDS does not die of this disease but from

some other infection.” Justify the statement. 2
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31. (=)
(@)
32. (&)
(@)
57/2/1-12

(1)

(i)

1)

(i1)

(1)

(i)

1)

(i1)

Qs &

Tsh JAFAsiS H Slehl T GINTRUT o Si+d i d wieht Tgfoem
Th o sk hl AT HIfQ qdm 3ifaH Icurgl <hl FEETAT
(vATSET) 1 Ioei@ I | 39 WshH H T ISR <hl HehT
19U HifT |

YOI 1 foehre YT o T § vgat BT 7, 1 ?

HAYAT

39 TS I Icoi@ hITT gl St (AT ATgT) | TS i 8=
BT 2 | Fe wspn Y s hifse 3t Seoi@ Fifse 6 3|
IshH T 3T IRV b T i hdl Tkl AT 7 |

YU S 3T HTEAT T I Toifge s Iqep THiv™ § @
grar 2 | S (W Ter) T 3TaiYr UshH Sl SATEdT IS |

JIAH A b WY T A q0 (TT) (ST /7ad) i I9mria o Ty
(Fed) 6 g DUGTH & NG F I T (AT /3ad) H I
g ffafga & mar w i

(1) F, 9 4 SRy f stiieafe;
(2) Fo Wil o JeTferd By aen ARy s Afyeafe;
(3) 1 % 31d H 39 & fshpy W ug |

aHa R e ABO & oT{afyes ufaEu (Yed) & fohedl @
AT i g ST |

HAAAT

% WA o |fshadt & ey (fea=s o1fa)” 1 feufa g =g

EIATEHTCH JISHICHeh ATHI(ehd TR SHTST |

&% AW & o &t womenss feme (Fafea Weem) =i
gl 1T B ?
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31. (a)
(b)

32. (a)
(b)

57/2/1-12

(1)

(i1)

1)

(ii)

(1)

(i)

(1)

(ii)

SECTION E

Explain the process of double fertilization in an angiosperm
starting from the germination of pollen grains on the stigma,
mentioning the ploidy of the end products formed at the end.

State the role of synergids during the course of the process.

Why does the development of endosperm precede that of the

embryo ?

OR

Mention the site where fertilisation of the ovum occurs in a
human female. Explain the process of fertilization and mention

how polyspermy is prevented.

Name the embryonic stage that gets implanted in the uterus.

Explain the process of implantation in a human female.

Compare the pattern of inheritance of flower colour in garden
pea plant (violet/white) with snapdragon plant (red/white) on
the basis of the following :

(1) Fq phenotypic expression;
(2) expected phenotypic and genotypic expression of Fy
generation;

(3) the conclusion you reached at the end of the comparison

made.

List any two characteristics of pattern of inheritance of human
blood group ABO.

OR

Draw a schematic, self-explanatory labelled diagram of lac

operon in a ‘switched on condition’.

Why is regulation of lac operon referred to as negative

regulation ?

1
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33. (&) () Trelt =Ifvew ot foudig (Sed) Sivdu o &g 989 & S
TIET ? hicIT ARE & ITANT g foet Saro] hifsrept i Ha
HeIq SR ST Fohdl & ? SATEAT <hIfT | 2

i) (1) Sa-UEfER § JAd d9gd wU-dded  (SAaBREE) 6

HEd forfay |
2) 39 fagra &K = SISt e W I8 awdies s S
7|
(3) 3T dhdls H sefifeam siuTse A1 IuET = R AT B 2
I hIfT | 3
AHAAAT

(@) Iafhd: EUARd Baa S (Bt) U™ 309 (Iaal) deH B HU

foRTI <l gd HEm=dl 6 2 |
(i) & (Bt) HUE o HIY I Moash TAH HH o g Tt frm

ThT FHT™T T=™AT ? TN ﬁﬁlﬁ | 2
(i) St (Bt) U™ % Gl I @H T TAh AAH HIHAT o A hl
foranfafer =61 auia HifSre | 3
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33. (a) (1) Why should a cell be made competent to take up an alien DNA ?

How can a bacterial cell be made competent using calcium ions ?

Explain. 2

(i) (1) State the importance of gel electrophoresis in

biotechnology.
(2) Explain the principle on which this technique works.

(3) Mention why ethidium bromide is used in this technique. 3

OR

(b) ‘Bt cotton’, the genetically modified crop, has greatly helped the

cotton farmers to increase their crop yield.

(1) How was Bt cotton plant made resistant to bollworm ?

Explain. 2

(11) Describe the mechanism that leads to the death of bollworms

feeding on Bt cotton plants. 3
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